Before returning this product
to the store of purchase

Contact Dee Zee if you experience the following problems:

* Missing Parts
* |nstallation Problems/Questions
* Warranty Questions

1.800.779.2102

Hours of operation: 8am - 5pm CST, Mon-Friday

Review complete warranty policy and register your product at:
www.deezee.com/warranty.php




INSTALLATION INSTRUCTIONS
GRILLE GUARD PART# DZ500274/500275
97-04 Dodge Dakota/98-03 Dodge Durango

Step One: Locate the hardware kit and check the contents of with the hardware listed below.

QTY DESCRIPTION
M10 x 1” hex bolts, zinc plated
M10 hex nuts, zinc plated
M10 lock washers, zinc plated
M10 oversized flat washers, zinc plated
M12 x40mm hex bolts, zinc plated
M12 lock nuts, zinc plated
M12 flat washer, zinc plated
lower mounting bracket, left side
lower mounting bracket, right side
2 upper mounting brackets
Step Two: Locate the two factory bolts that hold the main bumper bracket in place on each side of the vehicle. Remove
the nuts on them one side at a time. Orient the brackets as per Fig.#1 and loosely reinstall the nuts.
Step Three: Open the hood and remove the two innermost upper bumper bolts. Orient the upper support brackets as per
Fig.#2. Loosely reinstall the factory bumper bolts.
Step Four: Place the front guard up to the vehicle with the lower mounting brackets going to the outside of the side

plates.
Step Five: Make final adjustments to the alignment of the guard and tighten all the bolts at this tine. (NOTE: Make sure
the guard does not interfere with the opening and closing of the hood.)

PR PO BRDDBDNDNDDNDDN

Dodge Dakota/ Durango Front Brackat
Pass. side shown

Remowve nuts here (x2)
leave hand tight until
guard is in position







